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1. Write your roll number in the space provided on the top of
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This paper consists of fifty multiple-choice type of questions.
3. At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.
4. Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
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Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.
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put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, such as change of response by scratching or
using white fluid, you will render yourself liable to
disqualification.

9. You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.

10. Use only Blue/Black Ball point pen.

11. Use of any calculator or log table etc., is prohibited.

12. There are no negative marks for incorrect answers.

13. In case of any discrepancy in the English and Hindi versions,
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N

(if)

(iii)

N

=

witerfeat & fag fder

U Y & S F9q T | 3T I TR fafa |

2. T YH-T9 H U9 Sgfahedd g € |

®

10.
11.

12.
13.

T TRES B R, JIA-YRehT TRl < < SR | Uee i fae
AMTHT FH-YReT WieH qe 8! Fefafaa e % fau i
ST, fSreRT i SThT 3Tavd AT ¢ :
() Te-gfE Gier & fau i | ol wrS ®t 'a @l
RIS T | Gl g8 A1 fo1 Rie-Hid &1 giedet @iar 7w
e’ U8 W BY FEITTER U9a-Ufeaent & U5 a1 Y91 sl
AT T 3Dt AE ok I ot foh A YW E | ool gfeent
it gg/woet T B AT gANT o T B ar wiae # 7 8
starfa foret oft werm =t Ffequt qiaent w@ier T &t aen
I TUT IH AT I T W gH el qvT-gfiaent o
o He ferT et uiw firee fod st Sees e A ar
TR WIT-YReehT aTud ot STat 3T 1 & smuent ifafies
wa fear s
(iii) 39 SIT9 & o1& J¥I-IREeRT A1 FoR OMR T T 3ifehd
3T OMR T3 T oR 39 Je-Tfedeht R iferd w2 T |
&% I & faw IR 3| faswey (1), (2), 3) 7 (4) fF ™ 7
SIS TET ST % g9 1 U7 ¥ TFR el w1 § 541 fo =9
fe@mn T )
T[ET: D Q@ @ @ i (3) Wl IW LN
T % I kA U9 YREAehT o 3TeY fed T OMR U5k W&
3ifehd & T 1 Afg 3T OMR 9% W g8 T g & s1erman forst
T I T S Fawsifehd &Yd €, A1 SHeRT Jedishd Tal o |
< fq M FAdeil =l A W6 |
%=l %M (Rough Work) 36 f&dehl & 31f<d g8 T & |
Ff¢ 39 OMR T9& T 79d T & STamdn 37991 M, T T8,
T TR A1 e o T g fSE et Te=e € O, sifed
§ STora UG WT HT FANT HLQ €, AT HE 3 AT FIEA Hl
AN X4 ¥, 9 o oifRd fRd T S A faem 1 ke @ @
e A1 WieT % Tl sl wifvd fRd s g €
STTTeRT TIET H9H 81 T I OMR & 1% 7RIed &l @ler
AT © SR TeT FHIfH % oG 36 ST Wil e wad § el
T TR S | BTeAieh 319 UiaT FHIH R g Te-giaent a9 OMR
T HY GATHE T ST 1 & S HAd |
Had Het/HTA AT WIEE U hT & IEHTA i |
foret off YRR T EMUTE (FAFAET ) qT A SR 3G BT
v At ¥
TeAd SRl o fIT hTE TR 3ieh <&
Ffe Uit =1 fedt foexor 9 =g forwmifa @1, a1 sfusit foawon sifq
T ST |

(ii)

pazs |

=

P.T.O.



HOME SCIENCE
PAPER - II

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All questions

are compulsory.

The RDA of Vitamin A for pregnant women given by ICMR (2010) is :
(1) 600 pg/day (2) 800 pg/day
(3) 950 pg/day (4) 400 pg/day

Following is the richest source of dietary fibre :

(1) Green peas (2) Pomegranate (3) Fresh Dates (4) Ladies finger

Which of the following is not a characteristic of A la carte menu ?
(1) Is a choice menu

(2) Each dish is priced separately

(3) Food is kept in fully prepared form and can be served immediately
(4)

Customers pay for the dishes they order

Give the correct full form of ASTM.
(1) All Standards for Testing Materials
(2)  American Society for Textiles and Materials
(3)  American Society for Testing Materials
(4) Australian Standards for Testing Materials

Which of the following is a theory of clothing ?
(1) Adornment (2) Conformity (3) Individuality = (4) Custom

‘Footing’ for walls is known as :

(1) Basement (2) Foundation (3) Plinth beam (4) Flooring
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A : 39 TE-19 § U (50) 9g-fawed i U §1 UAE U & qr (2) 3F &1 At yeH Srfrerd €

1.

3. L. TA.3TR. (2010) )T & T8 Tk efarct wfga o fau foenfis ‘v 1 ywaifaq diftess stereashal
2

(1) 600 "EsRI™ /A (2) 800 wWEsRIH/ A

(3) 950 HrEshIT/feq (4) 400 HrEeRTH/feA

=1 § 9 SRR W &1 watan 9Ea R

1) ®|WHX (2) SR (3) TS @SR 4) faueh
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(4) TTEH R foh 7T = 1 & HeF T ¥
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(2) SRR TR TR HeRd TS HeRacd
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frefafea § 9 o= &1 fagm sH-a1 8 ?
1) EsEe (2) STEUAl (3) st fammoa (4) fa Rerst

SIarl &1 Hefen’ Hedrnd ©
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7.  Techniques used in behaviour modification which involve reinforcement contingent on a
particular response :
(1) Analytical therapy (2) Cognitive therapy
(3) Classical conditioning (4) Operant conditioning
8.  The Right to Education in India was operationalised in the year :
(1) 2007 (2) 2008 (3) 2009 (4) 2010
9.  Sustainable Development Goals are targeted to be achieved by the year :
(1) 2020 (2) 2030 (3) 2040 (4) 2050
10. When Ho is rejected and infact it is true, the researcher is committing a :
(1) Type II error (2) Type I error
(3) Both type I and II error (4) Making a correct decision
11. Following foods have a glycemic index of > 50% :
(a) Oats (b) Rice (c) Apple
(d) Sweet Potato () Banana (f) Rajmah
Code :
W @6 @ ©de 6 O @ O
12. Following are the disorders of Vitamin D deficiency :
(a) Osteomalacia (b) Rickety rosary (c) Bow legs (d) Koilonychia
Code :
O OGO @ @O0 @ @od @ @ o)
13. Following are the moist heat methods of cooking :
(a) Simmering (b) Broiling (c) Stewing
(d) Steaming (e) Sauteing
Code :
(1) (), (b) and (d) () (a) () and (d)
() () (@ and (e (4)  (b), (d) and (e)
oazss [ [ HIMIATIAIE ‘



7. FOER UfEds H IWEN & M aeht st Ue fovm gfafee w durer gode § wfa €
frfafed § @ ®F-91 § 2
(1) fowcroomeres fafecd (2) G ferfehe
(3) AR HSAT (4) SH= ST
8. 9N # fuan =1 sifyerr fohw o o sweifaa fohen T ?
(1) 2007 (2) 2008 (3) 2009 (4) 2010
9. Had fawm aea f=fafed § 9 frg o9 a& 9 63 oM &1 @1e 82
(1) 2020 (2) 2030 (3) 2040 (4) 2050
10. @ Ho STEETER foha STl € SR a&q: I Wel 81 o, q Sgehai § frefaiad § 9 fhd TR &1 Jfe
=l 2
(1) <EIIFRe 2) <RI
(3) TFi U1 SR TR I Ffe (4) o foig o
11. Tr=fafad @@ v & ‘frafafres seea’ 50 gfaea 9 s1fyes ©
(a) eH (b) =TEe (© ¥
d) TEER (e) el (f) TSR
%<
1) (@), (d), (&) (2)  (c), (d), (e) (3)  (b), (d), (e) (4)  (b), (0) (d)
12. FEAAIfefmm 'S FIFNH I IA AT :
(a) A=A (b) Tt ot (c) ®wE  (d) wiEAemE
7(;15)6: (b), (c), (d) 2) (@), (b) (9 3) (@) (o) (d) 4) (a), (b), (d)
13. fr=Afafed g o @ ofie 9se & Tl © ¢
(a) femftn (b) st (©) T
(d) FhfET (e) I
e :
(1) () (b) 3R (d) @ (@) (© M@
) (© @ () @) (b), (d) 3 (e)
o-ars [ 1[NNI 5 Paperi




14. Bulky yarns are made by :

(a) Modification in chemical spinning

(b) Varying the cross sectional shape of fibres

(c) Varying the pressure of extrusion through spinneret

(d) Addition of bubbles using air duct

Code :

1) (), () 2 () © () © @ ) (b), (@
15. Which of the following factors favour fashion ?

(a) Leisure (b) An economy of abundance

() Transportation and communication (d) Low income

() Sumptuary laws

Code :

D @) (®)(© 2) (b)) (d) (3)  (© (@) (@ @) () @) (b)
16. Choose the non-flammable building materials from the following :

(a) Cardboard (b)  Brick (c) Timber

(d) Asbestos (e) Metals

Code :

1) ) (and(© ) @ @and() (@) () (©and(© (4 () () and (d)
17. The Brain stem consists of three divisions :

(a) Medulla (b) Hypothalamus

(c) Pons (d) Midbrain

(e) Pituitary gland

Code :

1) @) (d) (e (2) (9, (@) (e) () (b) (0) (d) 4) @) (© @
18. Two things correct about the David Berlo’s model of communication are that :

(a) it is linear in nature (b) it is cyclic in nature

(c) itis an analogous model (d) itis also called SMCR model

Code :

(1) @and(® (2 (Gand@©  (G) ©and(d (4 (a) and (d)
oazs | :
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18.

pazs ||

SR AR AT S §

(a) TEEMNE HdE | a5 AR

(b) T F FE HRMA STHRR H i amet
(c) Torie & wrem 9 frwms § fafy= e amee
(d) T TH H 3TN Hd gL JAIe Sl

E T

1) (a), (b) 2)  (b) (0 B) (o) (d) (4)  (b), (d)
frefafed & § -9 w1 5 &I gfad w3 © 2

(@) FWd (b) 7ol EEen & AR (c) MM 9 HaR
(d) HH = (e) SHIHEA HMA

%<

™ @ ®)(© 2 (b)) () (@ () (©) (d) (@) @) (d) () (b)

freafafea # 9@ IR Saaeia Yoq 9T 1 =F9 HIFST :

(a) wIEdAE (b) & (32) () femrx
(d) T=wd () W (Umg)
e :

1) (), @)3R(E) (2 @, ©33ME @) ((b),3IE) @ O) (AR

forefrfiaa & § FH-8 € T AreTes dq § Wi £2

(a) T (Hgan) (b) EENITH (FENITE)
(c) TrEg (d9=) (d) == At (e o)
) drm-ufy (feeed we)

%<

1) (@), (d), (e 2)  (©, @) (e) ®3)  ®),(©) @ 4) (@), () (d)

<fore sl o WU Aied % IR H S S A Wel §, 9§ -

(a) IETEIH WA 7 (b) IETEEIH THF T |
(c) 9% T& Hg¥ Hisd ¢ | (d) TH UH TH G AR Gied off Fed ¥
< :

(1) (a) &R (b) (2) (b) &R (o) (3) (o) ¥R (d) 4)  (a) 3R (d)
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19. Extension education puts emphasis on developing the quality of life of people by :
(a) strengthening local leadership (b)  self reliance
(c) effective use of indigenous resources  (d) increasing competitiveness
Code :
1) @ Oad@© @ O, @andd (@) (@) ©and(d) @) (@) b)and(d)
20. A cumulative percentage curve is :
(a) Called an ogive (b) Never has a negative slope
(c) Always leptocurtic (d) an S-shaped figure
(e) aJ-shaped figure
Code :
1 (@) (®) (d) 2) (b)) (¢ ®) @ © @ 4) @ () (@
21. Assertion (A) : In Chronic Renal Failure the glomerular filtration rate is < 25 ml/min.
Reason (R) : Patients of Chronic Renal Failure are recommended diets with high biological
value proteins.
Code :
(1) Both (A) and (R) are correct
(2) Both (A) and (R) are incorrect
(3)  (A) is correct and (R) is partially correct
(4)  (A) is correct and (R) is incorrect
22. Assertion (A) : Including 4 to 5 servings of fruits and vegetables in daily diet reduces the
risk of developing non communicable diseases.
Reason (R) : Fruits and vegetables are rich sources of antioxidants and phytochemicals.
Code :
(1) Both (A) and (R) are incorrect (2) Both (A) and (R) are correct
(3)  (A) is correct and (R) is incorrect (4) (A) is incorrect and (R) is correct
o-zs [T HNIHAAN :
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20.

21.

22.

foream faram g0 @il ot Sfte T[urar &1 g o fore frefafad # @ fhTm SR eren S 2

(a) T g hl T FHE (b)  &Fren fsfzan
(c) TN HETHAT T YW ITART (d) faeasicaRal 1 TG
e :

B ERIRIGNGRICED

(a) SAITTE AT T | (b) T FHTCHS AT ot T 2|
(c) TUTM ACIHIAH Bl T | (d) TF S-3THR HI HA 7
(e) T J-3AThR ! SATHfd 2

APURAT (A) :  HifH 0 HieRR § 7o fera 7ifa 25 fa.fa. /fae & 8 2 St 7

HIT (R) : ShiTTeh U7l ThieTaX o A ol AR | ITH FaIfciel i T2 o+ i TaATe &f Sl

7

A

I (A) 3R (R) W&

T (A) 3R (R) TTeTd |

(A) TE & R (R) o7ifvT &9 § T T
(A) T ¥ 3R (R) Td T

1
2

(1)
(2)
)
4)

4

APUFRAT (A) :  FF SRR H4 - 5 el IR Tfserdl st wfef snfaer & TR-Hehme AT & e &

SfEw 1 &0 H L
T (R) : Fell R Ffesral § wIgelhined 3R T=IeTae=H i Ig AHl e ¢ |
HE
(1) =i (A) 3R (R) Tod 1 (2) T (A) 3R (R) F&t T |
(3) (A) W& § 3R (R) T T (4) (A)7d § 3R (R) W& B |
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23. Assertion (A) : Planning menus helps to provide meals to customers at a reasonable price.
Reason (R) : Price advantage can be obtained by buying seasonal foods and in quantities
which carry discounts.
Code :
(1) (A) is correct and (R) is incorrect (2) (A) is incorrect and (R) is correct
(3) Both (A) and (R) are correct (4) Both (A) and (R) are incorrect
24. Assertion (A) : Leno weave exhibits inferior strength, increased shrinkage and more
slippage.
Reason (R) : Leno weave is an open mesh fabric having a plain weave construction.
Code :
(1) Both (A) and (R) are correct (2) Both (A) and (R) are incorrect
(3)  (A) is correct but (R) is incorrect (4) (A) is incorrect but (R) is correct
25. Assertion (A) : Structural design is an integral part of the garment.
Reason (R) : It comprises of applique, embroidery and print etc.
Code :
(1) Both (A) and (R) are incorrect (2) Both (A) and (R) are correct
(3) (A) is correct but (R) is incorrect (4) (A) is incorrect but (R) is correct
26. Assertion (A) : The challenge of management lies in the abundance of resources and being
able to manage the most of the family goals.
Reason (R) : Minimizing inputs and maximising outputs is the essence of management.
Code :
(1) (A) is correct but (R) is incorrect (2) (A) is incorrect but (R) is correct
(3) Both (A) and (R) are correct (4) Both (A) and (R) are incorrect
27. Assertion (A) : For an infant, cognitive development is expressed through perceptual and
motor activity.
Reason (R) : In Piaget’s view, the development of knowledge involves the interplay of
two processes, assimilation and accommodation.
Code :
(1) Both (A) and (R) are correct (2) Both (A) and (R) are incorrect
(3)  (A) is correct and (R) is incorrect (4) (R) is correct and (A) is incorrect
oass ||| HNIHAAN 1




23.

24.

25.

26.

27.

JMURYT (A) : T F1 AT el 1 3fad oI | TRR IucTe FHIE™ H Ferd FId ¢ |
T (R) : Hrem ¥ foer 9o @ gere v o aenet w1 wlie W e @, ST qod e

T IFAT T
e :
(1) (A) 5&l T 3R (R) T 21 (2) (A)7Td § SR (R) @&l 1
(3) <HI(A) 3R (R) T 1 (4) <HI(A) 3R (R) Terd ¥ |
afirere (A) : o1 g8 T Tote, fare e frge o S@iast quimdt €1
HIT (R) : A AT I IS W IEd Gt St w1 w9 ¥
< :
(1) T (A) 3R (R) &t 1 (2) T (A) 3R (R) Tod
3) (A) W@ ¢ dfed (R) 7@ B 4) (A) e € dfe (R) 9 R
AfireRer (A) : Tt fesTga uftam 1 gyt fewm €
HIT (R) : TUc e, Hels 9 S SHE INHA ¢ |
< :
(1) <M (A) T (R) Terd 2 (2) THi(A) T (R) Tl 1
(B) (A) TE § AfA (R) Terd B | (4) (A)TTed § AAfeRd (R) 9 B

AR (A) : TR TIEAl T BT qAT TIRATRES @Al Dl e Wi HiAl, e & T Th
AT 1

HTT (R) : 3TNTA T ST SR ScaTe i SAfeshad ST, e %1 ¥R fagr |

e :

(1) (A) W& & 9g (R) Terd T (2) (A) 7o ¥ TG (R) T B

(3) (A) 3R (R) 1wt T (4) (A) 3R (R) ST Terd

AMURAT (A) : TS RY & faQ, raemonens fowma 1 yeret IHers 3R Herer fafafe &
e W e fohan Siran ¥

HTT (R) : frarst &1 9 ®, 9 % faRE W SRRt SR FHESH 91 gfhared w6
YR ies JTe I # |

e :

1) (A) 3R (R) <A TE ) 2) (A) 3 (R) T TTera T

(3) (A) W&l T 3R (R) T 2| (4) (R) & T R (A) T
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28.

29.

Assertion (A) : Each person in the communication process is both an encoder and a decoder.
Reason (R) : Communication often involves an action-reaction interdependence.

Code :

(1) Both (A) and (R) are incorrect

(2) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(3)  (A) is correct but (R) is not the correct explanation of (A)

(4)  (A) is incorrect but (R) is correct

Assertion (A) : Extension Programme Planning is directed to attain specific and
pre-determined goals.

Reason (R) : It gives meaning and system to action.
Code :

(1) (A) is correct but (R) is incorrect

(2)  (A) is incorrect but (R) is correct

(3) (A) is correct and (R) is the correct explanation of (A)
(4)

(A) is correct and (R) is the incorrect explanation of (A)

30. Assertion (A) : Assumption free tests are some what less powerful than parametric
techniques when assumption for the latter are met.
Reason (R) : Assumption free tests are less powerful because the researchers do not use
scientific sampling methods.
Code :
(1) (A) is correct and (R) is not correct (2) (R) is correct and (A) is not correct
(3) Both (A) and (R) are correct (4) Both (A) and (R) are incorrect
31. Arrange in correct sequence the stages in the development of Iron deficiency :
(a) Iron deficiency erythropoiesis
(b) Iron deficiency anaemia
(c) Deficient iron stores
Code :
W @@k @ @00 6 @ @ O
s [ [ TN 2



28, AUHRIT (A): HIR UFRA § T&F A Fe o § IR FHe Gierdl Ff T
T (R) : gar # g foran-ufafsren e fafwan sfafdw g1
%<
1) (A) 3R (R) I Tema |
) (A) 3R (R) IF T € 3R (R), (A) T W =M B
(3) (A) T § W(R), (A) B T AT T T
(4) (A) TeT §, W (R) W T
29. SR (A): oo wRfwH A 1 3gevd fafire qen qd-fauffia @ea 1 ura & 71
HI (R) : 7g 1 1 37 TUT AT TS HT B |
< :
(1) (A) W&, W (R) T 2|
(2) (A) 7T ¥, W (R) H 2|
3) (A) W& T 3R (R), (A) F TEI =T T
4) (A) F& T 3R (R), (A) F TE =T T T
30. SIFURYT (A): YEUROT (TSVIRE) Ha qiero yraferss (Rifes) qetel § 9 w0 afweme
T € STd UTafcreh dehdiehl & foTq Ja RN 9T Bl & |
HTOT (R) : RN Hard G0 Wikt 21 § SRiifeh eirereht ek wfaeet fafer s
YA & L |
< :
(1) (A) ¥ & IR (R) T € (2) (R) T T S (A) T T
(3) (A) R (R) A T 4) (A) 3R (R) I TTera T |
31. W8 I HHI famfad 8 | 3T aet =R0ll &l ¥l A § s :
(a) <Ig ol FHHT § TReMEREY
(b) IS T HH F ST
(c) e ! Hufed A= FH B
%< :
1 (), (@), (b) (2) (), (b), (9) @) (b), (@) (9) 4) (b), (), (a)
o-ars [ 1[NNI 1 Papei




32. Arrange in correct sequence the steps in conducting a 24 hour dietary recall :
(a) Comparing the intakes of energy and nutrients with RDA.
(b) Listing all the foods and beverages consumed in previous 24 hours.
(c) Calculating the energy and nutrient content of raw foods.
(d) Converting cooked foods into amounts of raw ingredients.
Code :
1) (@), @ O), © 2 (b)), ©) @
() (9, (b), (d) (@) ) (b) (@), (d) ()
33. Arrange the steps to be taken while purchasing equipment for food service establishments in
the correct sequence.
(a) Set guidelines/specifications for purchase of these items.
(b) Estimate the expenditure by obtaining prices of these items from different sources.
(c) Assess the need.
(d) Select after careful consideration ensuring that the equipment satisfy the required
specification.
(e) Decide on the list of equipments to be purchased.
Code
(1) () (b), (), (@) and (d) 2 (©), @, ©) (@ and ()
() (e () (b), (d) and (a) 4)  (e), (@), (b) (c) and (d)
34. Give the correct sequence of manufacturing wool :
(a) Shearing (b) Carding (c) Combing
(d) Carbonizing (e) Grading
Code :
1) (), @ @) (@), (b) @) (), ©, @), (@) @
3) @ (@ (d), (b), ©) @) © @ @ 0) @
35. Give the correct sequence of cutting a garment :
(a) Lay out plan (b) Taking measurements
(c) Preparing of drafts (d) Tracing the stitching lines
(e) Cutting the garment pieces
Code :
1) (), <c>, (@, (e>, (@) @) (b) @ @ @) [
3) (@ () (c) (d), (e) 4) (e, (d), (©) (b) (a)
oss | IO i




32.

33.

34.

35.

©)
pazs ||

24 w2 31T fafy &l foranferd 37 & =0l &l W&l %A § T :

Tt SR W Tl ht T S TS /A i Gl GIeeh STeavashdlsi ¥ ger &3 |
(b) T 24 5 H g0 fopw T |t oo o) T el T g 9

(c) = GrE-Tem § el HAR Wi q@l Sl A T STIHM T |

(d) T BT WISH S Fod GEI-URIE i °E H qRafdd |

1) (@) (d), ®) () ) (®), (d) (c) (a)
3) () (®) (@) (a) @) (), @), (@) ©

e Gl G H SR Tied H9A Ty STH ol heHl 1 WEl hH H s
(a) T TR I WS & fow Meears/ faawo ffvwa s
b) fafes Edl 9 37 IR 1 oI U hilch I Hl STherd LT |

(
(c) SATATFHASA 1 3Ticher HT |

(d) ST S o wifed foer 1 Ggfie w3 @, 3% SYes 9h faar &k 9|
(e) THISH ATt TSN i Gt & IR H ol &

e :

(1) (@), (), (), (e) ¥R (d) 2 (@) (o), (), (a) ¥R (d)

(3)  (e) (0 (b), (d) ¥R (a) 4) (o) (a), (b), () ¥R (d)

T & AR 1 Fel A ST

(a) I (b) YT (c) E &

(d) HRAAENT (e) SOt § @

< :

1) (@), (d), (), (@) (b (2)  (b), (c), (d), (e), (a)

B) (@) (e), (d), (b), (0) 4)  (c), (d), (e), (b), (a)

IEA Tl A I Tl Y ST :

(a) o I IS (b) HTT & (c) @TRI I

(d) HTed T@n BT (e) oE % | HIeA

< :

1) (b), (c), (d), (e), (a) (2)  (b), (c), (a), (e), (d)
@), (b), (©), (d), (e) (4)  (e), (d), (0) (b), (a)

HHARARAT i




36. Arrange organization process in management in the proper sequence :

(a) Grouping activities

(b) Identifying and classifying activities

() Delegation of authority

(d) Delegating work

() Coordination

Code :

1) ®) @ @ ©), @ @) (@), ®), @ ©) @
B ®) © @ @) @ 4 (@) @, ®) © @

37. Arrange the following policies/acts in chronological order :
(a) National Health Policy
(b) National Policy for Children
(c) National Policy on Education
(d) Juvenile Justice (Care and Protection of Children) Act

() Hindu Adoption and Maintenance Act

Code
1) (@), (@), (b), (e), (d) (2) (e, (b), (¢), (d), (a)
3)  (b), (0), (d), (a) (e) 4)  (e), (d), (b), (a), (0)

38. Arrange the following steps of designing strategy for social marketing as given by Phillip

Kotler :
(a) Formative Research (b) Program Development
(c) Initial Planning (d) Tracking and Evaluation
(e) Program Implementation (f)  Strategy Formation
Code :
D (@), @) @), (b), (e), (d) 2) (@), (o), (B), (d), (b), (e)
3)  (®), (b), (@), (c), (d), (e) 4) (), (0) (b), (d), (e), ()
o-ass [ [ HITAT 1




36. SIGEAT hi TS UlhaT i T A H TR ¢
(a) TIfafafel =61 g S
(b)  ifafateri s stz e siferor s
(c) &l GigA
(d) e w1 e
(e) THA HLA
&
1) (®), (a), (d), (c) (e) 2) (@), (b), (e), (c), (d)
( ( , )

) ,
3) (b), () (@) (e) (d) 4) (o) (), (b

~—

37. fTy=fafaa Hifaal/ sfufedt #i e FageR =artd =X
(a) T T@mee Hifq

(b) T et +fifa

(c) Ut foran ifd

(d) TFYR = (F= & T@9E AR qran) Afufm

() T3 TT*-T=w iR Humy stfufre

%<
1) (@), (c) (b), (e), (d) (2) (e), (b), (c), (d), (a)
(3)  (b), (c), (d), (a), (e) 4) (), (d), (b), (a) (c)

38. fHfcTT Fieer §R1 I IWfEd AMIfseh faque & fau gfea (Rfest) fmfo & fefafaa =i @@

SHHTTER Safeerd &Y

(a) TEAICHSE Y OBEIRERREETL (c) SRfye A
(d) TA1 A IR AR A (e) AT AT BT (f) I =1 fFmfo
e :

1) (), @), (©), (b), (e), (d) 2) (@), (9) (©), (d), (b), (e)

G)  (®), (b), (@), (), (d), (e) 4) (@), (c) (b), (d), (e), ()

oz [}

il 1



39. Give the correct sequence for Mark Knapp’s Relational Development Model :
(a) Integrating (b) Intensifying (c) Initiating
(d) Bonding (e) Experimenting
Code :
(1) (d), @), (b), (e), () (2) (&), (b), (@) (0) (d)
3)  (© () () (@), (d) 4) (@) (b) (c) (d), (e)
40. Arrange in order the steps in hypothesis testing about a single population mean using the
normal curve model :
(a) Decide of n and draw a random sample
(b)  Reject/retain Ho on basis of z calculated
(c) Calculate x and 9%
(d) Identify o level
(e) Define the target population
(f)  Specify Ho and HA
(g) Calculate z-score
Code
1) (®), (), @), () (&) (8) () 2) () (B, (d) (@) () (8) (b)
3) @ (@), ) () (b) (o) () @) (e, (®), (d) (), (@), (g) (b)
oazs [N L




39. Hh 79 g fed T fivd IR * ufshan & 9aml bl e wH | oeferd &Y
(a) H|HHA (b) TS LA () & H

(d) S (e) VAN &L

1) (d), @), (b), (e), () 2) (@), (), (@), (o) (d)
(3)  (© (&) (b), (), (d) @) (@) (b), (c) (d), (e)

40. HEH Ik Hied 1 FAN Hd U fREl Tha SAG@ 989 (HH) & 9N § Yehecdeh ae
(BEUIfIRaE =) H =Xl &l AR Fared &Y

(a) n% IR H fo=R HX qA TH AGIDH facel w1 A BT
(b) I TR UM z % SMYUR T Ho ! SRR/ TTU L

(c) X TUT Ox S TUAT HIAT

d) o TR & TwEAR

(e) T&A SHE &I TRV LA

(f)  Ho T HA &1 SR <

(g) z-31% I TUAT HEA

< :
1) (@, (d), @) () (e), (g), (b) 2)  (e), (f), (d), (@), (), (g), (b)
B) (@) (e), (1), (d), (b), (c), (g) 4) (o), (), (d), (c), (a) (g), (D)

oz [[[{ N 1




41. Match the terms given in List-I with the food products given in List-II :

List-I
(a) Fermentation
(b) Emulsification
(c) Germination
(d) Dextrinisation
(e) Shortening
Code :

(@ (b) (o)
1) (@v) (vi) (v)
(2) () (@) ()
() @) (v @
4 (v) i) @

List-1I
i)  Sprouts salad
ii) Chappati
iii) Apple pie

v) Poha

(
(
(
(iv) Bhatura
(
(vi) Mayonnaise
(

vii) Custard

(d) (o)
(i) (i)
(vii) (i)
i) (iv)
(i) (i)

42. Match the disease condition given in List-I with their diagnostic criteria given in List-II :

List-1
(a) Diabetes mellitus
(b) Hypertension
(c) Atherosclerosis
(d) Anaemia
Code :

(@) (b) (9
Q) © @ )
@ ) O @)
@) G O
@) (i) @ (v

oazs ||| |11

List-1I
(i) SBP > 140 mm Hg
(i) DBP < 80 mm Hg
(iii) HbAlc > 7%
(iv) Total cholesterol > 200 mg/dl
(v) Hb<10mg/dl
(vi) HDL cholesterol > 60 mg/dl

(i)

(v)
l 2

Paper-11



41. FA-1¥ fou Tu vei 1 G-I ¥ feu T sl @ fad

-1 -1
(a) THRT (i) SApRd HaR
(b) SHCHIHRTH (i) =T
(c) 3R (ii))  TTA-TE
(d) SRS (iv) T
() W (v) d®l
(vi) TS
(vi)) HES
e :
@ (®) (o) (d) (e
1) (v) (vi) (v) () (i)
2) () @v) (v)  (viD) (i)
G) () (vi) @) @) (iv)
4) (@(v) (vi) (@) (@) (i)

42, -1 H < T8 IT-srareenaii 1 Ge-11 7 feu U f1em & Argre @ fad

-1
(a) TYHE
(b) o T
(c) TRIEhERiEY
(d) erifa

%<

(@ (b) (o) (d)
) (v @) Gv) (G
2) @) @) (@(v) (v)
3) (ii) (i) ( ) (111)
(@) i)

D21 HIIHIHIIIINIIHI I\IHHH

THI-11

i)y faeifae WEm9-140 T0 T T St 9 SAfus

(

(i) SEEIfaH WEU-80 TH TH T4 51 9 HA

(i) I T U -7 gfawa 9@ Afaw

(iv) Fa dleegia-200 f.m/100 fa.fa & sifyen

(v) SErareE-10 /100 A 9 %4

(vi) U= A wereia 60 fa.m. /100 fa.eft. @ sifue

21

Paper-11



43. Match the type of account books in List-I with their appropriate purpose in List-II :

List-1 List-11
(a) Purchase book (i)  For recording cash receipts and payments
(b) Cash book (ii) For recording transactions for which no specific book is
maintained

(c) Sales book
(d) Journal

iii) For recording all goods purchased on credit

iv) For recording all goods sold on credit

v) For recording all sales returned by the customers
vi) For recording all purchases returned to suppliers

Code :
(@ () (¢ (d)

(1) G (vi) (@) (V)
(2) @) @ (@) ()
G v @ ¢ (@)
4) (vi) @) () @)

44. Match the contributors given in List-I with their specialised area of contribution in List-II :

List-I List-II
(a) Ross (i) Classes of change
(b) Mundell (i) Ergonomics
(c) Gilbreth (iii) Value scale
(d) Drucker (iv) Pigment theory
() Munsell (v)  Therbligs
(vi) Consumerism
(vii) Entrepreneurship
Code :
@@ () (o (@) (o)
M (@) v 0O G @)
@ @ ) @ (i) @)
@) ) ) ) i) @v)
@ (@) ) i) ¢) (@)
oass [ LA 2




43. ge-1¥ fU TC 5 @l % YR 1 G-I H feu 7 3faa siva @ faand

-1 -1
(a) TES IH () Tohg TR YIaH 1 - WA & fau
(b) FUIH (i) 9 TH-F 1 w@-SE WA & A fSwe fag &% favm
fopaer =1 Tt T =
(c) W IH (ili) TR W BT T G4 aEgstl &1 arar-sien W@ & fau)
(d) A (iv) JUR W o= T 94t aEgafl 1 @r-sian WA o faw|
(v) | ElEl T8 aEqEl Sl TR R AIE I H A@l-Sal
W@ & o |
(vi) | TS g8 TS HlI TR H1 AH HA H] TG-Sl
T & fau |
e :
@@ () (9 (d)
1) @) (vi) @) (v)
(2) @) @) o (Gv) (i)
G (vi) @ () ()
4) (vi) () (v) ()
44, G-I T TC ANRE Fatel w1 G-I H I 7C 37 faftme e & @ gafaa S :
-1 -1
(a) 9 (i) FAEH R <0
(b) Hewd (i) ST
(c) firersiia (iii) g Thd
(d) TR (iv) fomie foregdt
(e) HHA (v) OEferTd
(vi) HIHGH
(vii) U=
< :
@@ () (0 (d) (e
1 G (v) @ @) ()
2 @ () @ (vi) (v)
3) (i) (i) (V) (vii) (iv)
4) @d) () (vi) (@iv)

11
oazs [

i :

W
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45.

46.

Match the fibres given in List-I with their components given in List-II :

a

()
(b)
(©)
(d)
(e)

List-I
Rayon
Polyester
Carbon
Nylon
Wool

Code :

1
2
3

(
(
(
(4

)
)
)
)

ii)

(
(@)
(
(

v)

(c)

(iii
v)
(@)

vii) (vi)

)

(d)
(v)
(vi)
(iv)
(

vii)

List-1I

PvVC
Polyurethane
Copper Sulphate
Acrylonitrile
Terephthalic acid
Cystene

Caprolactum

Match the stains given in List-I with their types given in List-II :

a)
b)
)

(
(
(
(d)

List-1
Coffee
Milk
Ink
Lipstick

Code :

1
2
3

(
(
(
(4

)
)
)
)

@@ (b)
(iv) (V)
(i) (iv)
(iv) (V)
(@)

(ii

()
(i
(@)
(@)

(vi

)

)

)
oazs |

(d)
(vi)
(i)
(iif)
(v)

List-11
Dye
Grease
Mineral
Vegetable
Protein

Grease and Colour

Paper-11



45, Fe-1¥ fu T aqel &1 e gei-10 7 U 7T 37 sew § SR

-1
(a) ¥ ()
(b) TR (i)
() A (i)
(d) e (iv)
(€ i (v)
(vi)
(vii)
%<
@@ (b)) (9 (d)
1) () (vii) (vi) ()
2 @ @ 3§D (vi)
G @ @ @ @)
4) (@) (v) @ (vi)

-1

o ot =i
RISIEEOE]
HR Fehe
REIRIEHES]

cadferen deTe

46. Fe-1¥ fU TU gedl o1 foe -1 9 T 376 9o | T

-1
(a) RI®I (i)
(b) =¥ (i)
() = (i)
(d) ferdfes (iv)

(v)
(vi)
< :

(@ () () (d
1) @v) (v) (D) (vi)
(2) @) @v) @ ()
©) (iV) (V) (i) (i)
(4) (v)

D21 HIIHIHIIIINIIHI

-1
SIS
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47. Match the symbols in List-I with its statistic in List-II :

List-I List-I1
(a) Apgar scale (i) Spinal cord and brain
(b)  Period of zygote (i) Longest prenatal period
(c) Neural tube (iii) Protects the newborn’s skin
(d) Vernix (iv) Newborn’s assessment
(e) Fetus (v)  Anoxia

(vi) Blastocyst

Code :

@ ® © @ (@
1) @) &) v) G ()
@ @) 6 i) G ()
G) v o) () G ()
@ @) G O @) )

48. Match the concepts used in Communication and Extension given in List-I with their
proponents given in List-II :

List-I List-II
(a) Media are Magic Multipliers (i) Robert Chambers
(b) Passing of Traditional Society (i) Wilbur Shramm
(c) Participatory Learning and action (iii) Marshall Mcluhan
(d) World is a global village (iv) Daniel Lerner

(v) Paul Leagans
Code :
@@ (b) () (d)

) (@) @) (@) (v)
2 @ @) @ (i)
(3 () (@v) @ ()
4 (v) (v) (i) (i)

i

) (
oazs [N

\%

l 2



47. GeE-19 U TC g &1 ! e & are gei-11 9 gafad S

-1 -1
(a) TIIR el () AE 3R mfeash
(b) HiRErE Afw SEme (i)  Ha9 Al g erafy
() =ARE T (i) 7% FAfEA = T g
(d) afiw (iv) oS T SR
(e) THIEH (v)  STfreraT

(vi) SRR

e :

@ (b) (3 (d) (e)
D Gv) (vi) (v) (D) (i)
2 Gv) @) (vi) (D) (i)
©G) @Gv) (vi) @) (D) (i)
4) (v) @) @ (vi) (i)

48. FeE-1¥ fd T HUR e forarieo § yga sraumoned & Gen-11 H 53 T 3% yEdreshi & |
gafea &

-1 -1
(a) Hifean sgg w9 @ fordlt =fiet 1 et < § () e =l
(b) TTIRRTA HHTS I eRAT (i) foeErR 9m
(c) wIGRIqu ferefor sk qen sk (iii) TS SRR
(d) fava T Bt Ta F T A TH T (iv) =fEa TR
(v) Ui e
%<
(@ (®) (o (@
1 @ G @) (v)
(2) @@ (@) @ 3@
3) (111) (iv) (@) (i)
4) (v) (i) (i)
Il 27




49. Match the development programmer given in List-I with the year of their inception given in

List-II :

List-I List-II
(a) Sarva Shiksha Abhiyan i 2006
(b) Beti Bachao Beti Padao (i) 2001

() National Rural Employment Guarantee Scheme  (iii) 2015
(d) National Rural Livelihood Mission (iv) 2008

(v) 2011
Code :

@@ () (o (d)

(®) (i) (@v) @) (V)

iv

(v

)
[l

iif) (i)

I 2

)
i

) (
pazs ||




49. -1 U 7T foehma wreisRal 1 G-I § 3 T3 37 Y& fohd 1 & 99 9 gafad o

i1 Heft-11
(a) W& foem Afam (i) 2006
(b) oI =S S qQrsll (i) 2001

(c) U UM YSHIR MRS AT (iid) 2015
(d) T T SATSifereRT Sy (iv) 2008

(v) 2011

() i) @Gv) @) (V)

iv

4)
oz [

v)

) (i) (i)
A 2




50. Match the test in List-I with appropriate use in List-II :

List-1 List-1I
(a) ANOVA (i) Inference about frequencies
(b) Regression line (i) Two dependent groups
(c) The sign test (iii) Prediction
(d) Chi-Square (iv) Two independent groups
(e) Pearson’s coefficient (v)  One way analysis of variance

(vi) Correlation

@ () (o (@ (o
1) @) @) @@ @) (v
2) (v @G G @ (i)

@ (v (@) @ @Gv) (Vi)

-00o0-

oazs | 0



50. GeAI-1H fod T waqon sl er-11 H o T 38 S0 S9ar § gafad &L :

-1 -1
(a) TAwEN ()  erefoi & aR ¥ fehd
(b)  FEISAT @I (i) < Ha TR
(e =e)
(c) Heha Tl&Tm (iii)  ferszramoft
(T Tw)
(d) HE TR (iv) @S T
(e) TaaER =1 i (v) Toern &1 ThaRw fageron
(vi) He-HFY
e :
@@ () (@ (d (o
1) (v) (@) @) @G o (vi)
Q) (v) @) @) (@) (vi)
G) @) (v) @) (@Gv) (vi)
@) (v (@) @O @Gv) (i)
-00o0-
oazss [ [I[IHIALNAI g



Space For Rough Work
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